SALEM COUNTY IMPROVEMENT AUTHORITY RESOLUTION 2020-41 February 13, 2020

RESOLUTION OF THE SALEM COUNTY IMPROVEMENT AUTHORITY AUTHORIZING A REPAIR TO THE 2011 CAT D7 BULLDOZER

WHEREAS, the final drive on the 2011 CAT D7 Bulldozer ("Bulldozer") began to show wear in 2019; and

WHEREAS, the final drive must now be replaced due to failure of the final drive seal on the left side of the Bulldozer; and

WHEREAS, in addition to the failure of the final drive seal, the undercarriage must be replaced as this is standard maintenance required for any bulldozer; and

WHEREAS, the estimated cost to make these two repairs is \$92,734.84; and

WHEREAS, funds are available in the SCIA Budget in the full amount of the repair with \$25,000 being budgeted for the final drive and \$65,000 being budgeted for the undercarriage, and same has been certified by the Certifying Financial Officer;

NOW THEREFORE, BE IT RESOLVED by the Salem County Improvement Authority that the Executive Director and Landfill Manager be and the same are authorized to make the repair to the Bulldozer in the amount of \$92,734.84.

Barry Davis, Secretary

Cordy Taylor, Chairman

CERTIFICATION

I hereby certify the above to be a true copy of a resolution adopted by the SCIA at a regular meeting held on February 13, 2020.

Barry Davis, Secretary

RECORDED VOTE

| | Mov'd | 2nd | Yes | No | Absent | Abstain |
|-----------|-------|-----|-----|----|--------|---------|
| Taylor | | | V | | | |
| Bestwick | | V | V | | | |
| Davis | V | | | | - | |
| Schneider | | | V | | | |
| DiMatteo | | | | | | |



SALEM COUNTY IMPROVEMENT AUTHORITY SOLID WASTE DIVISION ENERGY PRODUCTION RESOURCE RECOVERY FACILITY(SCEPRR)

PO Box 890, 286 Welchville Road Alloway NJ 08001-0890

DATE:

1/28/2020

TO:

Cordy Taylor, SCIA Board Chairman

FROM:

Lodie van Tonder, Landfill Manager

RE:

Equipment Repair and Authorization above \$10,000

The final drive on our 2011 CAT D7 Bulldozer needs to be replaced due to the failure of final drive seal on the left side of the dozer which started to show wear late last year. Dave Foster requested the services of Foley CAT to evaluate and repair the damage. Foley CAT determined that, at a minimum, the final drive on the left side will have to be removed and resealed at an estimated cost approximately \$23,000.00.

The undercarriage for this machine also needs to be replaced at an estimated cost of \$70,000.00. The wear of an undercarriage is a standard maintenance item required for any dozer every 2000 to 4000 hours working hours depending on the work environment.

The total cost for both items listed above are expected not to exceed \$92,734.84. SCIA budgeted \$25,000.00 for final drive and \$65,000.00 for the undercarriage in the 2020 SCIA Capital Budget under Equipment Repairs.

This piece of equipment is used for spreading solid waste on the active working face of the landfill to help reduce the daily workload of the landfill compactor and maintaining accessibility on the landfill during wet weather.

This letter is notification, as required in the SCIA Purchase Procedures Policy, that the CAT D7 Dozer will be repaired by Foley CAT, the only certified CAT service center in South Jersey.

If you have any questions regarding the equipment I have specified, please let me know.

CC:

Julie Acton, SCIA Executive Director



SALEM COUNTY IMPROVEMENT

AUTHORITY 52 MCKILLIP ROAD PO BOX 890. GALLOWAY N.J.

| CUSTOMER NO. | QUOTE NO | | |
|--------------|-----------|-----------|-------------|
| COSTOWER NO. | QUOTE NO. | DATE | CONTACT |
| 1716860 | 21736 | 12/3/2019 | DAVE FOSTER |
| PHONE NO. | FAX NO. | | EMAIL |
| 856-935-7900 | | | |
| MODEL | MA | KE | SERIAL NO. |
| D7R | CATER | PILLAR | 0AGN01976 |
| UNIT NO. | HOURS | WO NO. | P.O. NO. |
| | 6270 | | |
| | | NOTE | |

NOTE

CUSTOMER TO REMOVE AND INSTALL BLADE ON SITE BEFORE MOVING MACHINE

BROKEN OR STRIPPED BOLTS MAY REQUIRE MORE LABOR

RESEAL OF TRACK ADJUSTORS COVERS SEALS, ORINGS, AND VALVES. PISTONS AND CYLINDERS WILL BE QUOTED AS NEEDED ...

LINE-BORING WILL BE QUOTED AS NEEDED THIS IS A SIGHT UNSEEN ESTIMATE. IF ANY ADDITIONAL ISSUES ARE FOUND WORK WILL BE STOPPED AND A NEW QUOTE WILL BE GIVEN FOR THE EXTRA ITEMS CALL BEFORE OR SIT DOWN BEFORE CLOSING

| SEGMENT: 01 | CLEAN MACHINE (07 | 0 7000) | | |
|---------------|--------------------|---------------|----------------------------|--|
| Parts | | | Total Estimated Parts: | 0.00 |
| Labor | | | | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, |
| Item Number | Description | Qty | Unit Price | Ext Price |
| MST-**-** | MAIN SHOP SJS | 8.00 | 184.00 | 1,472.00 |
| | | | Total Estimated Labor: | 1,472.00 |
| Labor Summary | | | Less 20.00% - Labor | - 294.40 |
| Misc | | | Total Estimated Misc: | 0.00 |
| 187 | | | Segment 01 Total: | 1,472.00 |
| SEGMENT: 02 | QUICK CHECK MACHIN | IE (185 7000) | | |
| Parts | | (, | Total Estimated Parts: | 0.00 |
| Labor | | | . otal Louisiatod i di to. | 0.00 |
| Item Number | Description | Qty | Unit Price | Ext Price |
| MST-**-** | MAIN SHOP SJS | 1.50 | 184.00 | 276.00 |

276.00

| ırts | Description | ecome etrop 😎 🔻 | | (210 TIOI B | , | |
|------------------------------------|-------------|-----------------|--------------|---------------------------|-----------------|--|
| EGMENT: 05 | RESEAL TRAC | CK ADJUSTI | -R BOTH SIDI | Segment ES (273 4157 B | t 04 Total: | 3,197.56 |
| | | | | 0- | | A CONTRACTOR OF THE PARTY OF TH |
| ¥ | | | | Total Estima | ated Misc: | 55.00 |
| /IS-1*-** | MISC PARTS | 1.00 |) | 55.00 | 0 | 55.00 |
| m Number | Description | Qty | | Unit Price | Discount% | Ext Price |
| isc | <u> </u> | | | | | |
| abor Summary | | | | | | 230.00 |
| | | | | | 0% - Labor | - 368.00 |
| | | | | Total Estima | | 1,840.00 |
| 1ST-**-** | MAIN SHOP | SJS | 10.00 | | 184.00 | 1,840.00 |
| em Number | Description | | Qty | | Unit Price | Ext Price |
| .abor | | | | · otal Estill | acourais. | 1,302.56 |
| | | | | Total Estim | | 603.64 |
| X4584 | SEAL AS | | | 2.00 | 51.63 301.82 | 103.26 |
| W3301 | RING | | | 2.00 | 187.49 | 374.98 |
| G7379 | BEARING | | | 2.00 2.00 | 110.34 | 220.68 |
| | RING | | | Qty | Unit Price | Ext Price |
| SEGMENT: 04 Parts Part Number | REMOVE & | INSTALL ID | LER/IDLER WH | HEEL SET (ALL) | | |
| SECNELL AT | | | | | | 2,200,0 |
| | | | | Segme | ent 03 Total: | 2,250.5 |
| | | | Te | otal Time and Ma | aterial Misc: | 25.0 |
| one statement in the second second | 55 / /1(15 | 1. | | 25.00 | 0 | 25.0 |
| #MS-1*-**-** | MISC PARTS | | .00 | Unit Price | Discount% | Ext Pric |
| Misc Item Number | Description | , | 14. | | _ | |
| Labor Summa | nrv | | | Less 20 | .00% - Labor | - 441.6 |
| | | | | | nated Labor: | 2,208.0 |
| MST-**-** | MAIN SHO | SJS | 12.00 | | 184.00 | 2,208.0 |
| Item Number | Description | | Qty | | Unit Price | Ext Pri |
| Parts Labor | | | | otal Time and M | | 17. |
| SEGMENT: 0 | 3 REMOVE 8 | INSTALL T | RACK ASSEM | BLY BOTH (010 | | |
| 12 | | | | Segn | nent 02 Total: | 276. |
| Misc | | | | Total Es | timated Misc: | 0 |
| | iaiy | | | | | |
| Labor Summ | om. | | | 2000 2 | 0.00% - Labor | - 55 |

| 1672323 | SEAL-U-CUP | | 2.00 | 27.45 | 54.90 |
|---|---|----------------------------|--------------------------------------|---|--|
| 1908609 | VALVE FILL | | 2.00 | 18.01 | 36.02 |
| 2676532 | TOWELS | | 2.00 | 6.03 | 12.06 |
| 2J6274 | SEAL O RING | | 2.00 | 1.11 | 2.22 |
| 284078 | SEAL | | 2.00 | 2.11 | 4.22 |
| 285926 | VALVE | | 2.00 | 9.69 | 19.38 |
| 4K1388 | SEAL O RING | | 2.00 | 1.78 | 3.56 |
| 5P1075 | WASHER | | 8.00 | 0.61 | 4.88 |
| 6V0185 | DISC | | 6.00 | 4.77 | 28.62 |
| 6V8801 9W4361 | NUT | | 8.00 | 0.31 | 2.48 |
| 555354 | MOUNT | 570 | 4.00 | 13.79 | 55.16 |
| | HIGH FLEX GSKT MKR | i. | 3.00 | 18.61 | 55.83 |
| C-111 | BRAKE CLEANER | | 6.00 | 4.38 | 26.28 |
| Labor | | | To | tal Estimated Parts: | 305.61 |
| Labor Item Number | | | | | |
| | Description | Qt | 5 | Unit Price | Ext Price |
| MST-**-** | MAIN SHOP SJS | 12. | | 184.00 | 2,208.00 |
| | | | Tot | al Estimated Labor: | 2,208.00 |
| 1.4.0 | | | L | .ess 20.00% - Labor | - 441.60 |
| Labor Summar | У | | | | |
| Misc | 5 | | | | |
| Item Number | Description | Qty | Unit | Price Discount% | Ext Price |
| #MS-1*-**- | MISC PARTS | 1.00 | { | 36.00 0 | 86.00 |
| | 2 | | То | tal Estimated Misc: | 86.00 |
| | | | | Segment 05 Total: | 2,599.61 |
| | | | | | |
| | | | | | |
| SEGMENT: 06 | REMOVE, CLEAN & I | NSTALL BELL | Y PAN SET | (ALL) (037 9149 S) | |
| Parts | REMOVE, CLEAN & I | NSTALL BELL | | (ALL) (037 9149 S) al Estimated Parts: | 0.00 |
| Parts Labor | * | NSTALL BELI | | | 0.00 |
| Parts Labor Item Number | Description | NSTALL BELL | Tota | | 0.00 Ext Price |
| Parts Labor | * | | Tota | al Estimated Parts: | Ext Price |
| Parts Labor Item Number | Description | Qty | Tota | al Estimated Parts: Unit Price | Ext Price 920.00 |
| Parts Labor Item Number MST-**-** | Description MAIN SHOP SJS | Qty | Tota | Unit Price 184.00 | Ext Price 920.00 920.00 |
| Parts Labor Item Number MST-**-** | Description MAIN SHOP SJS | Qty | Tota | Unit Price 184.00 Estimated Labor: | Ext Price 920.00 |
| Parts Labor Item Number MST-**-** Labor Summary Misc | Description MAIN SHOP SJS | Qty | Tota | Unit Price 184.00 Estimated Labor: | Ext Price 920.00 920.00 |
| Parts Labor Item Number MST-**-** Labor Summary Misc Item Number | Description MAIN SHOP SJS | Qty | Tota | Unit Price 184.00 Estimated Labor: ss 20.00% - Labor | Ext Price 920.00 920.00 |
| Parts Labor Item Number MST-**-** Labor Summary Misc | Description MAIN SHOP SJS Description | Qty 5.00 | Tota Tota Le Unit P | Unit Price 184.00 Estimated Labor: ss 20.00% - Labor | 920.00 920.00 - 184.00 Ext Price |
| Parts Labor Item Number MST-**-** Labor Summary Misc Item Number | Description MAIN SHOP SJS Description | Qty 5.00 | Total Le Unit P 150 | Unit Price 184.00 Estimated Labor: ss 20.00% - Labor rice Discount% | 920.00 920.00 - 184.00 Ext Price |
| Parts Labor Item Number MST-**-** Labor Summary Misc Item Number | Description MAIN SHOP SJS Description | Qty 5.00 | Total Le Unit P 150 | Unit Price 184.00 Estimated Labor: ss 20.00% - Labor rice Discount% | 920.00 920.00 - 184.00 |
| Parts Labor Item Number MST-**-** Labor Summary Misc Item Number | Description MAIN SHOP SJS Description | Qty 5.00 | Total Le Unit P 150 | Unit Price 184.00 Estimated Labor: ss 20.00% - Labor rice Discount% | 920.00 920.00 - 184.00 Ext Price 150.00 |
| Parts Labor Item Number MST-**-** Labor Summary Misc Item Number #MS-1*-**-** | Description MAIN SHOP SJS Description MISC PARTS | Qty 5.00 Qty 1.00 | Total Le Unit P 150 Tota | Unit Price 184.00 Estimated Labor: ss 20.00% - Labor rice Discount% 0.00 0 Il Estimated Misc: | 920.00 920.00 - 184.00 Ext Price 150.00 150.00 |
| Parts Labor Item Number MST-**-** Labor Summary Misc Item Number #MS-1*-**- | Description MAIN SHOP SJS Description MISC PARTS | Qty 5.00 Qty 1.00 | Total Le Unit P 150 Tota | Unit Price 184.00 Estimated Labor: ss 20.00% - Labor rice Discount% 0.00 0 | 920.00 920.00 - 184.00 Ext Price 150.00 150.00 |
| Parts Labor Item Number MST-**-** Labor Summary Misc Item Number #MS-1*-**-** | Description MAIN SHOP SJS Description MISC PARTS REMOVE & INSTALL S | Qty 5.00 Qty 1.00 | Total Le Unit P 150 Total | Unit Price 184.00 Estimated Labor: ss 20.00% - Labor rice Discount% 0.00 0 Il Estimated Misc: | 920.00 920.00 - 184.00 Ext Price 150.00 150.00 |
| Parts Labor Item Number MST-**-** Labor Summary Misc Item Number #MS-1*-**- SEGMENT: 07 Parts Part Number | Description MAIN SHOP SJS Description MISC PARTS REMOVE & INSTALL S | Qty 5.00 Qty 1.00 | Total Le Unit P 150 Total | Unit Price 184.00 Estimated Labor: ss 20.00% - Labor rice Discount% 0.00 0 Il Estimated Misc: | Ext Price 920.00 920.00 - 184.00 Ext Price 150.00 150.00 |
| Parts Labor Item Number MST-**-** Labor Summary Misc Item Number #MS-1*-**-** | Description MAIN SHOP SJS Description MISC PARTS REMOVE & INSTALL S | Qty 5.00 Qty 1.00 | Total Le Unit P 150 Total | Unit Price 184.00 Estimated Labor: ss 20.00% - Labor rice Discount% 0.00 0 Il Estimated Misc: Gegment 06 Total: | Ext Price 920.00 920.00 - 184.00 Ext Price 150.00 150.00 |

| 3145462 5P7665 6V5841 | SEGMENT-SI BOLT WASHER-HA | | | | 10.00 50.00 50.00 | 145.49 1.84 1.45 | 1,454.90 92.00 72.50 |
|-----------------------------|---------------------------------|---------|---------|---------|-------------------------|------------------------|----------------------------|
| 7H3608 | NUT | | | | 50.00 | 1.95 | 97.50 |
| | | | | | Total Es | timated Parts: | 1,759.25 |
| Labor | | | | | | | ,, |
| Item Number | Description | | | Qty | | Unit Price | Ext Price |
| MST-**-** | MAIN SHO | P SJS | | 12.00 | | 184.00 | 2,208.00 |
| | | | | | Total Esti | mated Labor: | 2,208.00 |
| 1-1-0 | | | | | Less 2 | 0.00% - Labor | - 441.60 |
| Labor Summa | ary | | | | | | |
| Misc | | | | | | | |
| Item Number | Description | | Qty | | Unit Price | Discount% | Ext Price |
| #MS-1*-**-** | MISC PARTS | *0 | 1.00 | | 55.00 | 0 | 55.00 |
| | | | | | Total Est | imated Misc: | 55.00 |
| | | | | | | | |
| | | | | | Segm | ent 07 Total: | 4,022.25 |
| SEGMENT: 08 Parts | | INSTAL | L TRACK | ROLLEF | R FRAME BOTH | SIDES (010 4151 B |) |
| Part Number | Description | 0 | | | Qty | Unit Price | Ext Price |
| 2D1690 | SEAL | | | | 2.00 | 8.50 | 17.00 |
| 2H3932 | SEAL | | | | 2.00 | 1.86 | 3.72 |
| 3T4243 | BEARING | | | | 2.00 | 97.89 | 195.78 |
| 3T5898 | RING | | | | 2.00 | 110.34 | 220.68 |
| 5H6734 | SEAL-O-RING | | | | 2.00 | 5.02 | 10.04 |
| 5P5374 | SEAL | | | | 2.00 | 8.24 | 16.48 |
| 6S3002 | SEAL O RING | | | | 2.00 | 4.39 | 8.78 |
| 9W3301 | RING | | | | 2.00 | 51.63 | 103.26 |
| 9X4584 | SEAL AS | | | | 2.00 | 301.82 | 603.64 |
| Labor | | | | Tot | al Time and Ma | | 1,179.38 |
| Item Number | Description | | | Qty | | H-MB. | |
| MST-**-** | MAIN SHOP | SJS | 9 | 18.00 | | Unit Price | Ext Price |
| | | 000 | | 10.00 | Total Flat | 184.00 | 3,312.00 |
| | | | | | | Rate Labor: | 3,312.00 |
| Labor Summary Misc | | | | | Less 20.0 | 0% - Labor | - 662.40 |
| Item Number | Description | | 04 | | | | |
| #MS-1*-** | MISC PARTS | | Qty | | Unit Price | Discount% | Ext Price |
| WWO-1 | WIGC PARTS | | 1.00 | | 250.00 | 0 | 250.00 |
| | | | | Tot | al Time and Mat | erial Misc: | 250.00 |
| | | | | | Segmen | t 08 Total: | 4,741.38 |
| SEGMENT: 09 | REMOVE & IN | STALL T | RACK GL | JIDE WE | | (ALL) (010 4178 S) | |
| Parts Part Number | Description | (d | | | Qty | Unit Price | Ext Price |

| 1657211 | STRIP | | 4.00 | 85 = 1 | |
|----------------------|--|----------------|-------------------|-----------------|--|
| 2038040 | STRIP | | 4.00 | 66.34 | 265.30 |
| 7X0343 | BOLT | | 4.00 | 49.84 | 199.36 |
| 8T4122 | WASHER | | 24.00 | 1.53 | 36.72 |
| | WHOTILIY | | 24.00 | 1.27 | 30.48 |
| Labor | | | Total Time and M | laterial Parts: | 531.92 |
| Item Number | Description | | | | |
| MS1-1*-**-** | MAIN SHOP SJS | Qty | | Unit Price | Ext Price |
| | WAIN SHOP 535 | 6.00 | | 184.00 | 1,104.00 |
| | | | | t Rate Labor: | 1,104.00 |
| Labor Summar | v | | Less 20 | .00% - Labor | - 220.80 |
| Misc | y | | | | |
| | | | Total Time and M | laterial Misc: | 0.00 |
| | | | Segm | ent 09 Total: | 1,635.92 |
| SEGMENT: 10 Parts | REMOVE & INSTA | LL TRACK ROLLE | ER SET (ALL) (010 | 4180 S) | |
| Part Number | December | | | | |
| | Description | | Qty | Unit Price | Ext Price |
| 1D4630 | CAP SCREW | | 64.00 | 8.91 | 570.24 |
| 3235925 | ROLLER GP-SF | | 8.00 | 402.04 | 3,216.32 |
| 3235928 | ROLLER GP-DF | | 8.00 | 418.95 | 3,351.60 |
| 9H1031 | WASHER | | 64.00 | 2.33 | 149.12 |
| 1 -6 | | Т | otal Time and Mar | terial Parts: | 7,287.28 |
| Labor Item Number | | | | | The Arthur Sold and S |
| | Description | Qty | | Unit Price | Ext Price |
| MST-**-** | UNDERCARRIAGE SJ | 20.00 | | 184.00 | 3,680.00 |
| | 00 | | Total Flat F | Onto I ohaw | 0.000.00 |
| | | | | 0% - Labor | 3,680.00 |
| Labor Summary | | | E033 20.0 | 0 /6 - Labor | - 736.00 |
| Misc | | | | | |
| Item Number | Description | Qty | Unit Price | Discount% | 5.4B. |
| #MS-1*-**-** | MISC PARTS | 1.00 | 150.00 | 0 | Ext Price |
| | | | | | 150.00 |
| | | T | otal Time and Mat | erial Misc: | 150.00 |
| | | | Segmen | t 10 Total: | 11,117.28 |
| SEGMENT: 11 Parts | RESEAL PIVOT SHA | FT BOTH SIDES | (273 9972 B) | | |
| Part Number | Description | | Oty | Harris B. C. | _ |
| | SEAL-O RING | | Qty 2.00 | Unit Price | Ext Price |
| | SEAL | | 2.00 | 9.84 | 19.68 |
| | The second of th | | Total Estimat | 375.38 | 750.76 |
| abor | | | i otai Estimat | eu Pans: | 770.44 |
| tem Number | Description | Qty | | I Inié Drice | |
| /IST-**-** | MAIN SHOP SJS | 8.00 | | Unit Price | Ext Price |
| | 0.101 | 0.00 | Total Estimat | 184.00 | 1,472.00 |
| | | | Total Estimate | | 1,472.00 |
| 50 | | | Less 20.00% | o - Labor | - 294.40 |

| | | | | Segment | 13 Total: | 9,937.60 |
|--------------------|-------------------|---------|--------------|------------------|--------------------------|-----------|
| | 2 | | Tota | I Time and Mate | rial Misc: | 125.00 |
| MS-1*-**- | MISC PARTS | 1.00 | | 125.00 | . 0 | 125.00 |
| em Number | Description | Qty | | Unit Price | Discount% | Ext Price |
| lisc | | | | | | |
| abor Summary | | | | | | 2.00 |
| abor | | | | Total Flat Ra | | 0.00 |
| | | | Tota | I Time and Mater | | 9,812.6 |
| 920224 | IDLER GP-TRA | × | | 4.00 | 2,453.15 | 9,812.6 |
| art Number | Description | | | Qty | Unit Price | Ext Pric |
| EGMENT: 13 | SUPPLY IDLER/IDLE | R WHEE | L SET (AL | L) (250 4159 S) | | |
| | | | | Segmen | t 12 Total: | 16,398.0 |
| lisc | | | Tot | al Time and Mate | erial Misc: | 0.0 |
| _abor Summary | • | | | LG35 ZU.UL | 770 - Labul | - 736.0 |
| | | | | Total Flat R | ate Labor:)% - Labor | 3,680. |
| | SJ | | 20.00 | | 184.00 | 3,680. |
| JST-**-** | UNDERCARRIAGE | | Qty 20.00 | | Unit Price | Ext Pri |
| tem Number | Description | | 06. | | Hall Date | |
| Labor | | | Tot | al Time and Mate | erial Parts: | 12,718. |
| HILFO | PAINT STRIPPER | | - | 2.00 | 13.20 | 26. |
| 7H3599 IYLF3 | BOLT | | | 320.00 | 2.84 | 908 |
| 4884066 7113500 | LINK AS-TRAC | | | 2.00 | 5,675.40 | 11,350 |
| 282140 | NUT | | | 320.00 | 1.35 | 432 |
| Part Number | Description | | | Qty | Unit Price | Ext P |
| Parts | REMOVE & INSTAL | L TRACE | VOUCE B | OTH SIDES (010 | 41/2 B) | |
| SEGMENT: 12 | DEMONE & INIOTAL | I TDAG | , OU OF 5 | | VIII SANTANIA | |
| | | | | Seame | nt 11 Total: | 2,492 |
| | | | | Total Estin | nated Misc: | 250 |
| #1010-1 | MISC PARTS | 1.00 | | 250.00 | 0 | 250 |
| #MS-1*-** | Description | Qty | | Unit Price | Discount% | Ext P |
| | | 542157 | | | | |
| Misc | | | | | | |

Qty

20.00

Unit Price

Total Estimated Labor:

184.00

Ext Price

3,680.00

3,680.00

Labor Item Number

MST-**-**

Description

MAIN SHOP SJS

| Labor Summa | irv | | Less 20.0 | 0% - Labor | - 736.0 |
|---|--|--------------------------------------|---|---|---|
| Misc | 3 | | | | |
| Item Number | Description | Qty | Unit Price | | 2 |
| #MS-1*-**-** | MISC PARTS | 1.00 | | Discount% | Ext Price |
| | MIOOTAICIO | 1.00 | 250,00 | 0 | 250.00 |
| | | | Total Estim | ated Misc: | 250.00 |
| | 18 | | | | |
| | | | Segmen | t 15 Total: | 3,930.00 |
| SEGMENT: 16 | MACHINE/GRIND/ | MILL FINAL DRIVE | (063 4050) | * | |
| Labor | | | - N | | |
| Item Number | Description | Qty . | | Unit Price | Ext Price |
| FLD-10-40-FS | FLD LBR | 16.00 | | 184.00 | 2,944.00 |
| | | | Total Estimate | ed Labor: | 2,944.00 |
| | | | Less 20.00 | % - Labor | - 588.80 |
| Labor Summary | У | | | | |
| Misc | | | Total Estima | ted Misc: | 0.00 |
| | | | | | |
| | | | Segment | 16 lotal: | 2,944.00 |
| SEGMENT: 17 | REPAIR FINAL DRI | VF (023.4050) | | 4 | |
| Parts | · · · · · · · · · · · · · · · · · · · | VE (025 4000) | Total Estimate | nd Danta. | 10 110 00 |
| | | | Less 15.00 | | 16,443.89 |
| Laban | | | Less 15.00° | % - Parts | - 2,466.58 |
| Labor Item Number | December 1 | | | | |
| | Description | Qty | ι | Jnit Price | Ext Price |
| MST-**-** | MAIN SHOP SJS | 24.00 | | 184.00 | 4,416.00 |
| 8 | | | Total Estimate | d Labor: | 4,416.00 |
| l ahan Cumun | | | Less 20.00% | - Labor | - 883.20 |
| Labor Summary Misc | | | | | |
| | | | | | 7 <u>2</u> 7 (2.02 (2.03) |
| | | | Total Estimate | ed Misc: | 2,950.00 |
| | | | | | |
| SEGMENT: 18 | REBEARING & RESE | AL FOLIALIZED DAG | Segment 1 | | 2,950.00 |
| SEGMENT: 18 | REBEARING & RESE | :AL EQUALIZER BAF | Segment 1 | | |
| | REBEARING & RESE | | Segment 1 | 7 Total: | 23,809.89 |
| Parts | | | Segment 1 | 7 Total: Unit Price | 23,809.89 Ext Price |
| Parts Part Number | Description | 4 | Segment 1 R (028 7206) Qty | 7 Total: Unit Price 3.55 | 23,809.89 Ext Price 14.20 |
| Parts Part Number S1897 303139 | Description BOLT | 4 | Segment 1 R (028 7206) Qty 1.00 | 7 Total: Unit Price 3.55 74.82 | 23,809.89 Ext Price 14.20 149.64 |
| Parts Part Number 9S1897 303139 335631 | Description BOLT BRG-SLEEVE | 4 2 2 | Segment 1 R (028 7206) Qty 1.00 2.00 | 7 Total: Unit Price 3.55 74.82 16.09 | 23,809.89 Ext Price 14.20 149.64 32.18 |
| Parts Part Number 951897 303139 335631 085026 | Description BOLT BRG-SLEEVE PLUG | 4 2 2 1 | Segment 1 R (028 7206) Qty 8.00 8.00 8.00 8.00 | 7 Total: Unit Price 3.55 74.82 16.09 403.53 | 23,809.89 Ext Price 14.20 149.64 32.18 403.53 |
| Parts Part Number 951897 303139 335631 085026 F5326 | Description BOLT BRG-SLEEVE PLUG PIN | 4 2 2 1 8 | Segment 1 R (028 7206) Qty 8.00 8.00 8.00 8.00 8.00 | 7 Total: Unit Price 3.55 74.82 16.09 403.53 2.28 | 23,809.89 Ext Price 14.20 149.64 32.18 403.53 18.24 |
| Parts Part Number 951897 303139 335631 085026 F5326 | Description BOLT BRG-SLEEVE PLUG PIN SETSCREW BOLT | 4 2 2 1 8 4 | Segment 1 R (028 7206) Qty 0000000000 | 7 Total: Unit Price 3.55 74.82 16.09 403.53 2.28 7.69 | 23,809.89 Ext Price 14.20 149.64 32.18 403.53 18.24 30.76 |
| Parts Part Number 951897 303139 335631 085026 F5326 H3745 B8489 | Description BOLT BRG-SLEEVE PLUG PIN SETSCREW BOLT G-FITTING STNDRD | 4 2 2 1 8 4 | Segment 1 R (028 7206) Qty 8.00 0.00 0.00 0.00 0.00 | 7 Total: Unit Price 3.55 74.82 16.09 403.53 2.28 7.69 1.85 | 23,809.89 Ext Price 14.20 149.64 32.18 403.53 18.24 30.76 3.70 |
| Parts Part Number 951897 303139 335631 085026 F5326 H3745 B8489 | Description BOLT BRG-SLEEVE PLUG PIN SETSCREW BOLT G-FITTING STNDRD SPACER | 4 2 2 1 8 4. 2. | Segment 1 R (028 7206) Qty R.00 R.00 R.00 R.00 R.00 R.00 R.00 R.0 | 7 Total: Unit Price 3.55 74.82 16.09 403.53 2.28 7.69 1.85 51.72 | 23,809.89 Ext Price 14.20 149.64 32.18 403.53 18.24 30.76 3.70 103.44 |
| Parts Part Number 951897 303139 335631 085026 F5326 H3745 B8489 T5294 K0684 | Description BOLT BRG-SLEEVE PLUG PIN SETSCREW BOLT G-FITTING STNDRD | 4 2 2 1 8 4 2 2 | Segment 1 R (028 7206) Qty 8.00 0.00 0.00 0.00 0.00 | 7 Total: Unit Price 3.55 74.82 16.09 403.53 2.28 7.69 1.85 | 23,809.89 Ext Price 14.20 149.64 32.18 403.53 18.24 30.76 3.70 |

| 5F1678 | SEAL | | 0.00 | | |
|--------------------------------------|---------------|--------------|-------------------|-----------------|------------------|
| 5L4751 | RING | | 2.00 | 1.75 | 3. |
| 5P1076 | WASHER | | 4.00 | 21.09 | 84. |
| 5P6652 | WASHER | | 4.00 | 1.38 | 5.5 |
| 5P8250 | WASHER | | 4.00 4.00 | 3.21 | 12.8 |
| 6V8188 | NUT | | 8.00 | 2.76 | 11.0 |
| 6Y7795 | PAD AS | | 2.00 | 0.60 | 4.8 |
| 6Y7796 | PAD AS | | 2.00 | 337.54 | 675.0 |
| 7F6112 | BOLT | | 1.00 | 355.71 | 711.4 |
| 7G8664 | SEAL | | 1.00 | 13.05 | 13.0 |
| 7G8666 | SEAL | | 1.00 | 187.46 | 187.4 |
| 7J3216 | BEARING | | 2.00 | 185.01 | 185.0 |
| 7T6427 | PIN | | 2.00 | 196.15 | 392.3 |
| 8F4028 | SPACER | | 4.00 | 295.83 | 591.6 |
| 8T4223 | WASHER | | 16.00 | 2.22 | 8.8 |
| 8T8917 | BOLT | | 4.00 | 0.79 | 12.6 |
| 9X7505 | SEAL AS | | 4.00 | 1.22 | 4.8 |
| 7.1.000 | OLAL AO | | | 180.11 | 720.4 |
| Labor | | | I Otal Est | timated Parts: | 4,393.2 |
| Item Number | Description | | Qty | Unit Price | End Date |
| MST-**-** | MAIN SHOP S | | 3.00 | 184.00 | Ext Price |
| | | ,0 | | mated Labor: | 1,472.00 |
| | | | | 0.00% - Labor | 1,472.00 |
| Labor Summar | γ | | LC33 21 | 0.00 /6 - Lapoi | - 294.40 |
| Misc | • | | | | |
| Item Number | Description | Qty | Unit Price | Discount% | Ext Price |
| #MS-1*-**- | MISC PARTS | 1.00 | 250.00 | 0 | 250.00 |
| | | | Total Est | imated Misc: | 250.00 |
| | | | | | |
| | | | Segm | ent 18 Total: | 6,115.25 |
| SEGMENT: 19 | REMOVE & INST | ALL TRACK GU | IDE/GUARD (010 41 | 177) | |
| Parts | B ! # | | | | |
| Part Number | Description | | Qty | Unit Price | Ext Price |
| 1653664 | ROD | | 14.00 | 74.19 | 1,038.66 |
| 1787195 | SPACER | | 28.00 | 31.83 | 891.24 |
| 5C6565 | BOLT | | 8.00 | 1.12 | 8.96 |
| 7D8508 | NUT | | 28.00 | 2.91 | 81.48 |
| 7X0383 | BOLT | | 28.00 | 6.41 | 179.48 |
| 7X0590 | WASHER | | 8.00 | 4.46 | 35.68 |
| 3C6913 | WASHER | | 28.00 | 1.98 | 55.44 |
| 7 7 <u>2</u> | | | Total Estin | nated Parts: | 2,290.94 |
| _abor | | | | | |
| | Description | Qt | у | Unit Price | Ext Price |
| | | | | | 0.000.00 |
| | MAIN SHOP SJS | 20.0 | 00 | 184.00 | 3,680.00 |
| | MAIN SHOP SJS | 20. | 00 Total Estim | | 3,680.00 |
| Item Number MST-**-** _abor Summary | MAIN SHOP SJS | 20. | Total Estim | | |

| | | | | Segn | nent 19 Total: | 5,970 |
|----------------------|---|------------|-----------|------------------|------------------------|-----------|
| SEGMENT: 20 Parts | REMOVE & IN: | STALL CAR | RIER ROLI | ER (010 4154) | | |
| Part Number | Description | | | Ohr | | 121 98875 |
| 428-0056 | ROLLER GP-CA | | | Qty | Unit Price | Ext Pri |
| | | | | 2.00 | 271.77 | 543. |
| Labor | | | | i otal Esti | mated Parts: | 543. |
| Item Number | Description | | Qty | | 11-14 P. 1 | |
| MST-**-** | MAIN SHOP S | JS | 3.00 | | Unit Price | Ext Pri |
| | 20-03-11-03-2-03-03-03-03-03-03-03-03-03-03-03-03-03- | | 5.00 | Total Eatin | 184.00 nated Labor: | 552.0 |
| | | | | | .00% - Labor | 552.0 |
| Labor Summar Misc | У | | | Less 20. | .00% - Labor | - 110.4 |
| ltem Number | Description | Qty | | Unit Price | Discount% | E (D : |
| #MS-1*-**- | MISC PARTS | 1.00 | | 50.00 | 1126 | Ext Pric |
| | | | | | 0 | 50.0 |
| | £. | | | Total Estir | nated Misc: | 50.0 |
| | | | | Segme | nt 20 Total: | 1,145.5 |
| SEGMENT: 97 | TD | | | | | 1,770.0 |
| Parts | TRANSPORT MA | CHINE (05 | 52 7000) | | | |
| abor. | | | | Total Estim | | 0.00 |
| abor Summary. | , | | | Total Estima | ated Labor: | 0.00 |
| lisc | | | | 1920 01 2720 170 | | |
| | | | | Total Estim | nated Misc: | 3,500.00 |
| | | | | | | |
| | | | | | | |
| | | | | Segmen | nt 97 Total: | 3,500.00 |
| EGMENT: 99 | REBATE UNDER | CARRIAGE F | PARTS (1 | 39 9450) | | |
| arts | | | (1 | Total Estima | ted Parter | 0.00 |
| abor | | | | Total Estimat | | 0.00 |
| abor Summary | is a | | | Total Loting | ica Labor. | 0.00 |
| sc | | | | | | |
| m Number | Description | Qty | | Unit Price | Discount% | Ext Price |
| SR-1*-**-** | REBATE | 1.00 | | -5,200.00 | 0 | -5,200.00 |
| | MAP/WCF | | | | | -0,200.00 |
| | | | | Total Estima | ited Misc: | -5,200.00 |
| | | | | Segment | 99 Total: | -5,200.00 |
| | | | | Total S | egments: | 92,734.84 |
| B TOTAL (BEF | | | | | | 92,734.84 |
| & ENVIRONI | MENTAL (DIV G) | | | | | 0.00 |

Terms and Conditions

BY SIGNATURE ABOVE, I certify that I am the owner or owner's agent, and authorize Foley, Inc , its employees, subcontractors or consultants to perform the inspection, maintenance or repairs described above to include the provision and use of necessary materials required to accomplish the described work scope. I further authorize Foley, Inc to operate the equipment, or any part therein described for the purpose of testing and/or inspection. I understand that payment for all work performed is due in full upon completion.

Upon acceptance, this quote becomes a legal agreement between you (either an individual or the entity you are authorized to represent) and Foley, Inc. Further, signing certifies the information provided is true and correct, and that the signer is authorized to charge this purchase as noted. Foley, Inc reserves the right to reject a partial or modified quote. You may cancel an accepted quote until the work is started. Once started, work may be stopped at anytime. Partially completed work will be billed based on Time and Materials at Foley, Inc's prevailing rate. Additional handling and storage fees may apply to work partially completed or work temporarily put on hold.

EQUIPMENT HAVING INSTALLED FIRE SUPPRESSANT SYSTEMS: During course of repair work it may become necessary to deactivate or disturb mechanical and/or electrical components of the fire suppression system. Reactivation of the fire suppressant system is the responsibility of the customer and should be undertaken before machine operations. Foley, Inc accepts no responsibility for the reactivation, testing or operation of the fire suppressant system.

STANDARD WARRANTY: Parts for this repair are warranted as indicated by the manufacturer from the date of invoice. In addition, Foley, Inc CAT's standard labor warranty of 90 days will apply. Full warranty statements, including limitations and exclusions, are available from any Foley, Inc facility. Ask your service representative about additional or enhanced warranty availability.

THESE WARRANTIES ARE EXPRESSLY IN LIEU OF ALL OTHER WARRANTIES, EXPRESS OR IMPLIED, INCLUDING ANY WARRANTY OF MERCHANTABILITY OR FITNESS OF PURPOSE. REMEDIES FOR THESE WARRANTIES ARE LIMITED TO THE PROVISION OF MATERIAL AND SERVICES AS SPECIFIED HEREIN. IN NO EVENT WILL EITHER CATRPILLAR OR Foley, Inc BE RESPONSIBLE FOR INCIDENTAL OR CONSEQUENTIAL DAMAGES.

CORE CHARGES: Core charges will be returned to customer upon acceptance of the core by Caterpillar.

OVERTIME: Overtime can be added at customers request charged at Foley, Inc's prevailing overtime rate.

PARTS POLICY: This quote does not include any un-salvageable parts. Parts will be set aside for customer approval before replacement.

TURNAROUND TIME: Foley, Inc will not be responsible for circumstances outside of its control. If delays are experienced, the customer will be contacted. In no event will Foley, Inc or subsidiaries be liable for any direct or indirect damages (including, without limitation, lost profits, lost savings or other incidental or consequential damages) arising out of the use or inability to use the machine, even if Foley, Inc or subsidiaries has been advised of the possibility of such loss.

| PO#: | Authorized Name: | (signature) |
|---|--|-------------|
| Date: | Thank you for this opportunity to serve your company | (print) |
| CONTACT | INFORMATION: | |
| Prepared by: C | Chris Rost Phone: 302-218-7035 Email: crost@foleyinc.com Fax: | |
| -STANDARD E. -Freight, Taxes -Non-reclaimable- -Labor and experimental | expire 30 days from the above quote date. EXCLUSIONS: and Misc/Enviro charges ble core charges enses associated with overtime to & from Foley repair centers ble reusable hardware replacement | |

Certification Of Availability of Funds

This is to certify to the AUTHORITY BOARD of the SALEM COUNTY IMPROVEMENT AUTHORITY that funds for the following resolutions are available.

Contract Amount: Resolution Date:

92,734.84 02/13/20 Resolution Number: 2020-41

Vendor: FOLEYINC FOLEY INC

PO BOX 828735

PHILADELPHIA, PA 191828735

Contract: C2000001 DRIVE REPAIR-2011 CAT D7

BULLDOZER

Account Number

Amount

Department Description

60-00-000-400

92,734.84

Total

92,734.84

Only amounts for the 2020 Budget Year have been certified. Amounts for future years are contingent upon sufficient funds being appropriated.